gEol BAREEM 2ELFU-10YHI—BRAXE

OEEBLE 148 (LX) AEBTUH 9:15
OR== 148 (1) BREBLXEYYA—IE 10:00
J0v9 51t
AJOvY BJOwv%H cJavy DJOwv%H
1 (780747 MV F—LFC U-12 (BREE) 1 [EBE =% vh—2K—Y L EFAGLIR) 1 [V RER—YH5T (EEE) 1 [ABHyh—2RR—YDER (F5%)
2 [ E /M EgFC R A (B /M) 2 |BINYvh—RR—y L& (IME) 2 |77 —LLiRU-12 (FL1E) 2 [A Y F—L #LIRU-12AFLIR)
3 |[NORTEAL#EFC U-12(4L1%) 3| FC DATEAEM(EH) 3[M—YLubERUNE) 3|FC TIPSHvAh—LEH (FL1R)
EJOvY FoOovy G7Oovy HOOvY
1937 74—ILXU12(£LIR) 1 |B#Yvh—RR—Y L ER (/ML) 1 [wwoLa=7FC(=H) 1 |72 74=MAKLFCU-12 (£L18)
2 |BEIZYNR—ILYZT (Fi%) 2 |3 F—L#LIRU-12B(+L1R) 2 [YELL FooTBALL cLuB (&) 2 |d/nitt v h—RK—Y S ER (/1)
3 [R7 =X yh—DEF (ME) 3 [/\iBHYh—RR—Y L EHE (FEE) 3 | LR ERFC(ALIR) 3 |EfEY 2 =F—ILFC (F£E)
148 () FE)—Y
AJ—F Ba—k ca—k
1111:00~ A 1 Vs A 2 B 1 Vs B 2 C 1 Vs C 2
2[(11:35~ D 1 Vs D 2 E 1 Vs E 2 F 1 Vs F 2
3/12:10~ G 1 vs G 2 H 1 vs H 2 -
4(12:45~ C 1 Vs C 3 A 1 Vs A 3 B 1 Vs B 3
5(13:20~ F 1 Vs F 3 D 1 Vs D 3 E 1 Vs E 3
6/13:55~| __ ———— G 1 vs G 3 H 1 vs H 3
7114:30~ B 2 Vs B 3 C 2 Vs C 3 A 2 Vs A 3
8/15:05~ E 2 Vs E 3 F 2 Vs F 3 D 2 Vs D 3
9[/15:40~ H 2 vs H 3 - G 2 vs G 3
1L, 260IC K DRBEN—FT A ME SfIb—FAVREE 7/15(8)
AL — A3fL ——
— A1 C1
_as Hzﬁf — A6 C5 531;: 6
B1{4L — C3fL —
— B1 Cc2
G2fI — D3z —
C1i ATO Eaf 9
— A2 C3
L Cs8 L
—B5 F2le - — g et —
D14 — G3fL ——
— B2 C4
E21iL — A1ol— H34iL
E1{ 15H(E)DREEZ (A, B, Ca—Fk)
— A3
D24 i 1 9:30~
—AS8 N A7 2 10:10~
R 3 10:50~
- 4 11:30~
C21x —
N . B1 5 12:10~
_ G1{I a 6 12:50~
B2 ] — 7 13:30~
—BS8 B7 8 14:10~
H1tE  — B11— 9 14:50~
— B4 | ’
A2 SR EH 16E (A %)
7/15(R)i 7/16(A %) 10 9:30~ (EERRH)
11 11:00~ (3GLRTEE)
12 11:40~ GREFE)




